242 Lehyw?

=
=

8.603

Hat

<

8595 191 955 8595
900 20 111 009

8603
999



@ 10x-x

@ 1000x — 10x

@ 100x — x

3 1000x — 100x

@ 100x — 10x



@ 349=35 ® 0.30=0.3

1
- >0.17
@ ke

1 ..
® 1—5>0.06

@ 0.43 > 0.43



g H7)9] 8 2L 2R A2 AT AL

T AT

1=

="'
A 0.072 © 0.072

® 0.072 ® 0.072

PO9-@->0-06 @09-0-06 -6
®0-0-6-06 @®e--0-0
®E » 6 - 0 - 06



5. H=F &2 A

D 1.3>1.32 ® 1.79=—= ® 0.5=0.50

@ 39<4 ® 10.04 = ==



%

o] 27} ol



o
o8



T

@ 0.5

® 04



St
=

N =

® 0.25

D 3



11
3 x 52

@ n

63
222 %w3xT

@ 1.415



@ 9.999999

@ n

O 3.141592

21
53 %7

111




12.

3
o A
e 52Xa
AL Fo A a2 oz A
dupl7}?

@21 @23

3 25



18
22xxx5

i

olJ

)
o}

<
il

® 6 B 7 @ 8 B 9

D 5



o
ol

(7H1<a<10

® 17 3 18 @® 19 ® 20

@D 16



olJ

or
NI

ﬂwﬂ

Nfo
<
ol
<H
ol

3 0.89 @ 0.79 ® 0.80

D 0.8

D 0.79



o
S

—

<
,.v_mo
Nfo
<
ol
<H
ol

3G 2.8

0.9

@

3 4.09

D 2.1

D 0.9



4.89999 - - -

-
4
W

Njo

oln

B 4.9

B 4.88 @ 4.89

® 48

D 47



